[ 19.4.21 Drcimas J

Lea,rnmg Ob:/' ective:

Wo, are lp,o,mi,ng to- add decimals bridg ing the

ﬂdl he su.cce,ssful if: \

Nean partition decimals in different ways.

[ can LLSQ, compbemnts to- 1.
/ can use my /crw'WLng of pLaLe value to exptcu;n
the value of each d,L\th in numhbers with 3 decimal

\P,La»ces. /







F | s h bac k y Year5 Week2 Dayl

Add 0.63 to 0.74 ﬁ

Subtract 0.35 from 0.78

Round 08l to the nearest whole number-.

How many girls are there altogether?
Girls
Age 9 ™
Age 10 8l




F | as h bq c k u Year5 Week2 Dayl

Add 063 to 0.74 137
Subtract 0.35 from 0.78 043
Round 0.8l to the nearest whole number. |

How many girls are there altogether?
Girls
Age 9 ™
Age 10 8l




Use a p[ace value 9n‘d to hz[p you add, these decimals.

0.458 +10. 66% =

Ones

l Tenths

Hundredths

Thousandths

O O
© 0

©0

1000
000

0O
© e

Which column do you bzgm a,dd,mg with? Why?



How can you partLtLon this number?

Is there onLH one way to- do this?

0.42



Flexible P,a,rtLtLonLng can h@[p you when a,d,dtng two decimals.

Fm"example: G 7 et O L8

\

0.7t + 0.26 + 0.2 .22

N/

These numhbers now- add up to1. Remember to- wse your
numhber hond.s tcrhdp, you with this.

Does it matter which number you p,artLtLon?



How- do you decide which numher to parti,tt‘,on?

+ 067 = Why is partitioning 0.67
into 0.55 and 0.12 more helpful
+ 012 than 0.6 and 0.077

045+ 055+ 012=112



Use flexible partitioning to add these decimals.

0.39 + 0.8k =

0.91+0.53 =






Addng - Crssng the Whoe

A place value grid is used to solve

07+05 You will need a partner and a six-sided dice for this game.

Ones ¢ Tenths

5 e
& 0.

Take it in turns rolling the dice twice and placing the digits in
the blank spaces above. Record the number in a table.

Swap over with your partner.

Roll the dice again and add your new number to the first
number. The winner is the person who, a_fter adding four

Alex thinks the answer is 012 numbers, is the closest to 1.5 without g
What mistake has she made?

“ rueor F a ‘ sle ? Adding decimals - crossing the whol

Bridging can be used to add decimal
numbers.




